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Roll Number

Candidate
Name

Venue Name

Modern Institute of Technology and Research
Centre

Exam Date 16/08/2021
Exam Time 9:00 AM - 10:00 AM
Subject Combined Graduate Level Examination 2020 Tier 1

Section : General Intelligence and Reasoning

Q1 sl & F91ST & T gE W ST W FH AN 36 qF GT FOS A e i geiar
T #1 EH FEIS F OGS W AT FET TEEm?

Ans

Question ID : 81616114245

Status : Answered

Chosen Option : 1

9/2/2021, 7:04 PM
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Q.2 gy faswedl & & a8 qul-agg 7o o FafifEa sear A vaig (7) & R w e
THME, WKJB, ZNGY, CQDV, ?
Ans X 1.FTBS
X 2. FUAS
X 3.FTAR
4. FTAS

Question ID : 81616114222
Status : Answered
Chosen Option : 4

Q.3 it fafRry Heutar # 'PRINT' &Y 'YMNIU' & =0 & forar SiTar 1 o 3T H1wr & ‘MAGIC
P B foram smwm?

Ans X 1.HDLVR
# 2. HRLRZ
« 3. HRLZR
< 4. HLDRV

Question ID : 81616112713
Status : Answered
Chosen Option : 3

Q4 3H&RI F I FAI T I B ol &I TS e & ad R A $iH® FUH @ a0 R®
e B gul HE|

UA_B_TU_CBD__ACB_TUAC__T
Ans X 1.C,D,A U, UD,B,D
« 2.C,D,ATUD,B,D
K 3.CDATUDCD
/& 4D,CATUDD,B

Question ID : 81616114230
Status : Answered
Chosen Option : 2

9/2/2021, 7:04 PM
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° & s amgfa & Rraw fage €2

Ans X116
X215
X318
v4i17

Question ID : 81616113736
Status : Answered
Chosen Option : 4

Q.6 b g HESHf BT VI IRER Fger § faar war wefie<or |8t 8 smem?
36x81+9—(88+4)+14+(22+7)=169
Ans X 1.14 3R 22
< 2.813MR 36
 3.36 3R 14
7 4.93R 36

Question ID : 81616113733
Status : Answered
Chosen Option : 3

Q7 A#B FTIFZF BHITARI
‘A@BFAfgF BHAARI
AB BAIRF BFI TN AR
A%B BIfEF BFTWTARI
Tfe ‘M @R %K#GHNAT B, A e & | HI9-1 HUT I 8 82
Ans X 1.R GBI
X 2.N, K et gl
& 3. T, MBI CEI |
X 4 M KSTTZI

Question ID : 81616114231
Status : Marked For Review
Chosen Option : 1
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Q.8 Four words have been given, out of which three are alike in some manner and one is
different. Select the word that is different.

Ans X 1. Hatred
«” 2. Empathy
5 3. Jealousy
5 4. Envy

Question ID : 81616113720
Status : Answered
Chosen Option : 2

Q.9 %q?ﬁwgﬁwhﬁw?ﬂaﬁ%wmﬁm%mmﬁ%mmﬁ
|

1. Sorting

2. Solitary

3. Solution

4. Sophisticate
5. Solvent

Ans 2 1.2,35 4, 1
X 2.2,53,4,1
X 3.2,4,1,35
X 4.2,31,4,5

Question ID : 81616113213
Status : Answered
Chosen Option : 1

Q.10 fag 7T faweul # 9 98 T&n g1 o Fafafaa gaar & vylig (2) F ®E w nwt?
10, 22, 35, 40, 72, 40, ?
Ans X 1.143
< 2.131
X 3.134

& 4.133

Question ID : 81616113223

Not Attempted and
Marked For Review

Chosen Option : --

Status :

9/2/2021, 7:04 PM
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AN 537 gt 7 9T FY B & T ofiT FY SRS W AEHT TART T FohaT T

4]

[2

(39 96
Ars X1 Far C 3k D
X2 Faewr A, C 3Rk D
X3 Fagar B Ak C
v4 Faa A3k C

u—hwml

Question ID : 81616113737
Status : Answered
Chosen Option : 4

Q.12 1 9R qui-wgg T e & o @ 6 fdft wef & ves qum & ok 399 | U SR
B 3 3RATA qul-Tgg HT 994 B

Ans X 1.LNJI
X 2.RTPO
« 3.FHDB
X 4.DFBA

Question ID : 81616113214
Status : Answered
Chosen Option : 3

Q.13 agﬁa?gﬁﬁhiﬁwmﬁwﬁwﬁﬁﬁa%ﬁmmmmmmﬁ
TR gl

16:144::28:7
Ans X 1.544
< 2.364
& 3.263
o 4.420

Question ID : 81616112719

Not Attempted and
Marked For Review

Chosen Option : --

Status :

50f30 9/2/2021, 7:04 PM
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Q14 zfr zdor FF MN WX @1 F1a7 § a8 BT 7w g0 ST 98 90T Sfates guea Sifewe

Qe1fP54N

v UNhEd9il 90
~ANBqQTIITOD
~~MNhGqQIle D
*N¥7e91190

Question ID : 81616114244
Status : Answered
Chosen Option : 1

Q.15 wgwummaﬂmmmﬁ%nwaﬁﬁﬂ%ﬁﬁmwﬂ&'—w*W*
HATI
WY : YT
Ans X 1. UEf6d; GSH
X 2.7ET faR
#< 3. CHifge : FAReH
o 4. 3R : hd

Question ID : 81616114227
Status : Answered
Chosen Option : 4

Q.16 g fawe g R Tent te g & Mt @ A Wafta § 99 R fiw e e 9t Tent
TP g A GaRE R
(6, 9, 45)
Ans X 1.(6, 8, 60)
X 2.(2, 8, 46)
« 3. (8, 10, 36)
X 4.(7,4,48)

Question ID : 81616113732
Status : Answered
Chosen Option : 3

9/2/2021, 7:04 PM
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Q17 frw wrv fwest & ¥ o7 gl T o PeRf@m gwer F weafres (2) ¥ waw T s

7 * i 4 5]
o Qla i o O ?
v Sl % P ) +|

Ans T v 0O

Question ID : 81616113230

. Not Attempted and
" Marked For Review

Chosen Option : --

Status

Q.18 faw T H¥FT 3R Fehul B e A U1 FUAT § & 715 TGN B ed A §U, HA g
a8 JrTIa: F1d 9 | i wedla @), fraffia «% 6 19 F Feed yew sy <1 aifde
FY Y FEU HA B

DY

&g WY 9, wrafag TE 1
Tt erafey, wia gl
e

1. S W ¥, wela a8 21
1. ®g W wia, 9% T8 81
. $3 LT, Frafaa g
iv. 9t weia, srafaa g1

Ans X 1. Hqd B | SFER0 HRAT §
2. Had Y 111 STER0T BT §
X 3. e | 8RR 11 ST IR AR
X 4. 75BN | SR IV T SFFER0 R §

Question ID : 81616112717
Status : Answered
Chosen Option : 2
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Q19 o7 37 @ o S e AU % @ & @iy w1 wed wor AT aar B
gfeaT, FET, el

Ans
Xa@

Question ID : 81616112731
Status : Answered
Chosen Option : 2

Q.20 H14 IR FOI-gw T ¢ § Rrd @ 9 felht dayf A to wur @ ok S99 & T eriTa
B 3 ST WS- BT g9 Fe |
Ans X 1.21:139
X 2.25:167
X 3.27:181

& 4.15:197

Question ID : 81616113730

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.21 m;ﬁmmqﬁmawﬁaﬁ?agmgﬁwhsﬂﬁum(?)%mwm
?

1416 13

1867
122117

Ans X 1.7
X238
X 3.6
& 4.5

Question ID : 81616112721

Not Attempted and
Marked For Review

Chosen Option : --

Status :

8 of 30 9/2/2021, 7:04 PM
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Q.22 fpeft fafke Feurer &, FRENCH’ &t ‘114’ 3R ‘LOSS’ I 47’ & =0 & FHeds fhar mr
2, @ 3t UTaT & ‘COURSE’ #) $ Heas fbar simgm?

Ans 7 1.87
X 2.81

#< 3.103
X 4.120

Question ID : 81616113724
Status : Answered
Chosen Option : 1

Q.23 Select the option that is related to the third word in the same way as the second word
is related to the first word.

Leaves : Rustle : : Owl : ?
Ans X 1.Quack

2. Grunt

«” 3. Hoot

X 4. Chirp

Question ID : 81616113216
Status : Answered
Chosen Option : 4

Q.24 a% fweT oo S & 72 gy F FfeaRa & el # gEer 26 )

Question ID : 81616114243
Status : Answered
Chosen Option : 4

9/2/2021, 7:04 PM
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Q.25 17 30T 2014 Y WG PT B IH-T feT UT?
Ans o 1. AR

X 2. 9FaR

X 3. [hAR

X 4. 94aR

Question ID : 81616114239
Status : Answered
Chosen Option : 1

Section : General Awareness

Q.1 1947 ¥ BRTaTE 1 fAemH g & | 19 U172
Ans X 1. UR HgEd ol @

o 2. I 3fedt
7 3. PR 3l WH
X 4. ARR ST

Question ID : 81616112744
Status : Not Answered
Chosen Option : --

Q2 9 A ¥ PH URT & IWIPURT St TS A §2
Ans X 1. SR g

X 2. @3 et

o 3. TASRIand Aal

X 4 drar ik

Question ID : 81616114266
Status : Not Answered
Chosen Option : --

Q.3 g # q B SHwe R feded (Democrats and Dissenters) ITH® J&dP *
AT/ &2

Ans X 1. Aol g
X 2. 33U TR
X 3. PRI TN
o 4. HES TR

Question ID : 81616114264
Status : Not Answered
Chosen Option : --

9/2/2021, 7:04 PM
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Q.4 ST 2021 H gy Wx W R URA & fafte fia A vy oifw gfd F wm wt
Sire= arelt foa-it 2 @Y TarT far wan >t

Ans X 1.1f9
o 2.3
X 3.9
X 4.9%

Question ID : 81616114270
Status : Answered
Chosen Option : 2

Q5 YR A AP FifereT feaw Fa g oA 22
Ans 124 S

X 21278

X 3.55d

X 4.9 fRdwR

Question ID : 81616113259
Status : Answered
Chosen Option : 1

Q.6 WAt 2021 ® & | for W5 & yaqd ITeauTe, 9T vETE $T U gene
Ans X 1. 7@l

X 2. TWES

X 3. WU

4. AU TR

Question ID : 81616113253
Status : Not Answered
Chosen Option : --

Q.7 AP & e Aisa B ILTT T R?
Ans 1. T8 U U g Bt e R 8, R i8Ik U7 dger B e 8 b g

X 2. 78 TafaRur Bt P W do ¥ b B 5¢1dr 8, R a1g # 39 Sl Brar 2
X 3. U8 WY TR0 SN Bl fA™ & Fg & U | Pieud prar gl
X 4. 98 Tafarur & 1y Tifd J 61 & e Wenfiiest &1 I e ¥ uRan &l 9g1ar a1 8|

Question ID : 81616113745

Not Attempted and
Marked For Review

Chosen Option : --

Status :

9/2/2021, 7:04 PM
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Q.8 quieH fawpTe wafagya ufvaer fa & & fra g & fRua 22
Ans X 1. g

o 2. SES

X 3. feurd uew

X 4. 91 3R HYHR

Question ID : 81616113751
Status : Answered
Chosen Option : 2

Q.9 RN & IFUR, WA fawy] A urft & goft 5% g4t &1 991 & Rrg BT T
il

Ans X 1. & erf
2. TP R®
X 3. U& 9™
X 475 Rig

Question ID : 81616114261
Status : Not Answered
Chosen Option : --

Q.10 faR=R Yffr W fo B ardt Ugd YR &7 A1 a1 412
Ans X 1. TR a=

X 2. 97 GoRd Hed

3. Wiralt Hr

X 4. & wga

Question ID : 81616112747
Status : Not Answered
Chosen Option : --

Q11 Sadt 2021 § 9 § 9 59 Tellowgfoev Suw ey sfear fifies & srwe wd uay
e & wu ¥ g fear mare

Ans 1. TSd HIR
X 2. Waoid g dey
X 3. s Rig
X 4.9 AR

Question ID : 81616113261
Status : Not Answered
Chosen Option : --

9/2/2021, 7:04 PM
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Q.12 I WA F AR S eava R @1 Pmfu dar g
Ans X 1.4 3ORGE

2. Tddg SRaeh

X 3. eI wifeat

X 4. HL-HERNRY P

Question ID : 81616113248
Status : Not Answered
Chosen Option : ==

Q.13 g & & F1 @ 9 v weldt & RO SN 22
Ans X 1. i

o 2. Tafan
X 3.99r
X 4.

Question ID : 81616113242
Status : Answered
Chosen Option : 2

Q.14 g & | H-3 o & gaeia e 82
Ans X 1. faerfm K

X 2. faaftm A

% 3. fgafm b

4. faefFc

Question ID : 81616112739
Status : Answered
Chosen Option : 4

Q.15 QBT YRA-ZTATS aRgHar & e & Fwe (Pishtaq) T w1 3rf 82
Ans X 1. Tedf

X 2. 3 (ardfae Hewr)

X 3. Ut &t ot

4. TS TARGR

Question ID : 81616113743
Status : Not Answered
Chosen Option : --

Q.16 & q P A WH F T d¢ A HA1S T4 4w 82
Ans ¢1.ﬂ:ﬁ@ﬁ

X 2. IIeETE

X 3.7

X 4. DADE

Question ID : 81616114257
Status : Answered
Chosen Option : 1

9/2/2021, 7:04 PM
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Ans X 1. HUHE
X 2. B
3. FTHEG
X 4. AiepriogH

Q.17 PWRERT R Id e & & $19 i gwe Teety fvg-avg & w6ita 82

Question ID : 81616113755
Status : Answered
Chosen Option : 3

Ans & 1. Acceptability
% 2. Availability
< 3. Accessibility
& 4. Affordability

Q.18 Which of the following is NOT a feature of food security?

Question ID : 81616114249
Status : Answered
Chosen Option : 1

et 82
Ans X 1. 39 323A
o 2. 3G 279A
X 3. TG 246A
X 4. 3T=0C 269A

Q.19 YRR A= &7 fm # / HIF-91 gD TS o0, (GST) URuE &1 R 3

Question ID : 81616113760
Status : Marked For Review
Chosen Option : 4

Q.20 g W e A A frw Qe | Tefta @2
Ans X 1.1l

2. Tordhe

X 3. Rt

X 4. %59 g

Question ID : 81616113257
Status : Answered
Chosen Option : 2

Ans X 1.Eyes
«” 2. Bones
5 3. Heart
X 4. Skin

Q.21 Which part of the body is associated with the rickets disorder?

Question ID : 81616112736
Status : Answered
Chosen Option : 2

9/2/2021, 7:04 PM
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Q.22 YR M BT 2020 & HTTATE UE.31S.31.F (FIDE) e Nefars &1 igad
fasrar ot feam mam T

Ans X 1. 9
& 2. 79
X 3. Tgad I AR
X 4. T

Question ID : 81616112753
Status : Not Answered
Chosen Option : --

Q.23 fg & & o vy i & = ol Y srauron &1 39 far e 272
Ans X1.&ﬂ3a$:i?q

X 2.3 R

o 3. SIEFE UWR

X 4. Acifera fefieht

Question ID : 81616113748
Status : Answered
Chosen Option : 3

Q.24 IS F TTETaH BN FATLH B ¢

Ans X 1. 318
2.9
X 3. T
X 4.5

Question ID : 81616114255
Status : Answered
Chosen Option : 1

Q.25 FAF-IE, FACHIAPICE A 2l
Ans X 1. 1fd dar

& 2. TS

X 3. AT

X 4. fd war

Question ID : 81616112732
Status : Not Answered
Chosen Option : --

Section : Quantitative Aptitude

15 of 30 9/2/2021, 7:04 PM
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Q.1 iapc ¥ g FoT, 4B T 20 F HEONF THSEASS & @ HI0T H AT 132°F] 24 HT A AT
ey

Ans 1. 8B40

X 2. 48°

X 3. 720

X4 620

Question ID : 81616113278
Status : Answered
Chosen Option : 1

Q2 A ve w15 e # F FEA §1 B, A F 25% ¥Ow guw {1 I 7 4 R 9 v w w
B a9 w5 @ C F 8 BT F qu B A, B v C Feew 33 9 @ e G\ & 9w W we

#

Ans x 1. 6% ﬁ,?r
x2 4> fo

X3 4 fea
v+ 5 fea

Question ID : 81616113775
Status : Answered
Chosen Option : 4

Q.3 20%, 10% 3¥ k% Fr A= T a7 F =12, 10,000 3T Tewr A= T6g # BHT ToT 16,120 F1 A
30 FE W (k + 20)% F vHA gE & A1°, @ 36 BT 75w (3 H) 9 H)

Ans 1. 6,500
« 2 8,000
X3 6,800
x4 8,500

Question ID : 81616112760

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q4 zfx 637 T TEAT 51423y, 88 W Rsmew &, A (5x— 8y) F AT FT F

Ans X114
v2 24
X3 28
X416

Question ID : 81616113767
Status : Answered
Chosen Option : 2

16 of 30
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Q.5
I[% cosec 8 + cot@ _ ?%! En_

cosec 8 — cot @

Ans 1
1. -
9
1
<2 -
3
1
X3 —=
9
1
¥ 4.
3

4 sin® 8 —1
4 sin® 8 +5

T AT AT FLI

Question ID : 81616113281
Status : Answered
Chosen Option : 1

Q6 Ffr 300520 —4sinf+1=0,0°<6<90°%, ar tan @ +secd = Fraar gem?

Ans x4 93
X2 343
¢ 3 4/5
X4 25

Question ID : 81616113785

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.7 O Fz 3 39 &, =@ AB T ShaT CD =Wy ¥ fF « ABC = 34° 3T CD = BD ¥ 2 DBC #r

AT A" F
Ans 5 1, 30¢°
&2 28¢°
X3 32°
X4 240

Question ID : 81616114286
Status : Not Answered
Chosen Option : --

8 afrad +p3=4053a+b=9% a ab F AT AT FL

Ans 1 12
X210
X315
x4 8

Question ID : 81616113273
Status : Answered
Chosen Option : 1

9/2/2021, 7:04 PM
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Q9 uF feEnE, Tge 75 km # g v ¥ vhwAw o § 99t § 3R e 90 km F g
AT =l & 10 kmh 3R F e T § 97 w1 Ol T B oW S § 3 ue
HAY T €, O WA A9 @ {Eems @ 300 km @ g a9 w F Fawr @Ew e

Ans X15EI%,'
Vz-BEi‘E_'.'
X3 5 g 15 fAee
X4 5 ge 25 fAae

Question ID : 81616112766
Status : Answered
Chosen Option : 2

Q10 0 Fz 3R 5 cm =TT I Io7 H, 4B AR CD, FA: 6 cm 3T x cm S FH I FEAH FEW §
i share O F7 # ol R A i Fast F fw F gt 7 om § x F AW T F

Ans X1 g
s2 8
X3 12
X410

Question ID : 81616113782
Status : Answered
Chosen Option : 2

Q11 & a1 Fifeem & 3T HT 3T T F FeaT

A, B, C, D 3T E 4w drut & sueaias weawAr (VC) & R amifea o $ir
FET|

L

TEH 2013 2014 2015 2016 2017 2018

A 120 135 130 135 128 140
B 125 132 138 132 135 142
C 125 120 125 138 140 135
D 100 125 122 140 128 138
E 105 110 115 147 130 145

2016 & WFAH A, C 3 E # VC & v a1 ol #F o @ 3y 2018 # g B iR D &
AR T T T BT H NS AT FLI

Ans X121 : 19

X214 :9
v3:3:2
xX4.8:7

Question ID : 81616114091
Status : Answered
Chosen Option : 3

18 of 30 9/2/2021, 7:04 PM
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Q12 & =5 afesr =1 wewma FY 3 9o = 3o &

A, B, C, D 3R E uiw TEu= & cOadide qedsAr (VC) & BT aAifea oEr #r
|

EL]

TE 2013 2014 2015 2016 2017 2018

A 120 135 130 135 128 140
B 125 132 138 132 135 142
C 125 120 125 138 140 135
D 100 125 122 140 128 138
E 105 110 115 147 130 145

2013, 2014 3R 2017 & F&u@ C # VC & R amnifea g o &1 TEar, 2018 F =l o9 Fwnat
# AR O B FA T F A g 32

Ans X 1. g2
V2 55
X3 53
X4 58

Question ID : 81616114093
Status : Answered
Chosen Option : 2

Q13 A #r 3w, B #7319 ¥ 30% FF § 3T B @ amw C #r oy ¥ 137.5% 3o | 3y A Framw B #r
T F 328,500 FH E, @ C & a1 (T FH) 7 =

Ans X 1. 36,000
~ 248,000
v 340,000
x 4. 50,000

Question ID : 81616113771
Status : Answered
Chosen Option : 3

Q.14 3 81 a
ofe (2:): —;) = 2%,?—?"(163:4 - F)HWH’IH#I
Ans X 1 308

v 2 184

X3 180

x4 220

Question ID : 81616112769
Status : Answered
Chosen Option : 2

19 of 30 9/2/2021, 7:04 PM
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15 14 2tan?6 + 2sinBsec? §,0° < G < 90°, FT AT T F|

Ans x 1 1-cos@
1+cos@
1-sin @

1+sin @

x 2.

1+4sin &
1—sin @
14+cosf
l1—cosf

Question ID : 81616113787
Status : Answered
Chosen Option : 3

Q.16 22 Femat @ siag 37.5 ¥ weer 12 Femat @1 stEa 406 ¥ s sifaw 12 et v sl 354
1 fy 11370 3 128 dwar S e B =, ar o weanst e osiea T\

Ans X1. 374
X2 36.4
X3 378
v4 36.9

Question ID : 81616114274
Status : Answered
Chosen Option : 4

Q7 BF A 1T0=26 +13x 2

: L AT AT FII

Ans @ 1. 11
X212
X3 41
<4 27

Question ID : 81616113263
Status : Answered
Chosen Option : 1

20 of 30 9/2/2021, 7:04 PM
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Q18 27500 #r Tl 10% M= Twfe == & R v WfeT 7o # 20,075 & = &) 3 7 &, =
TfEr 9T 3E AT & e F@rawer surs (€ H) 7 a1

Ans X 1.1,480
X 2.1,530
v 31,500
X 41,520

Question ID : 81616113774
Status : Answered
Chosen Option : 3

Q.19 #rr & w1 aifde, 2020 & Rwer 7w F v B 9 & 9 FaeEt gE aa s (€ ) s
3 A F [T FoFEr #

Fa e [mw R [@ew
T 35000 |38,500 |29,000 |42,000
wfer | 6,000 6,300 5,000 7,500
Faw 1,000 1,100 1,000 1,240

Hi=TeEs | 1,800 1,950 1,400 1,500

sifove ST o A T o o, e Sl T A & e ORI W e s W 3
Ans X1.1.4%

xX212%

X3 1.5%

v 4 1.6%

Question ID : 81616112478
Status : Answered
Chosen Option : 4

Q.20 ws A7 3T FHH A AT FY F AT 7 0 1§15 AT G g HT 4 1 1§ Fwwm|
AW A H I (A #) AT

Ans 1. 28
v 2 30
X3 31
x4 29

Question ID : 81616112763
Status : Answered
Chosen Option : 2
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Q21 Ry x+y+2z=2 M xy+yz+ze=—11%, @ 22 +y* + 28 —3xyz & AT AT H
Ans X 1. 71

X2 78

X3 69

v 4 74

Question ID : 81616113780
Status : Answered
Chosen Option : 4

Q22 784 om? e AT T F TR G A AR (om? H) AT T (-2 )
ans 1616

X2 462

x< 3. 660

X4 924

Question ID : 81616114282
Status : Answered
Chosen Option : 1

Q.23 ot awg #r 246.80 # FEN T WA AN, IEG H 2216 F dUA W @ Aoy @iy B qfr F 20%
e §1 i awg F T220.75 H A= v 7, O woww awva (Feean e 9%) 71a S

Ans X 1. oITeT 7%
v 2 gl 4%
X3 gy 5%

K4 T 3%

Question ID : 81616113267
Status : Not Answered
Chosen Option : --
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Q.24 =y &r o arferer, 2016 € 2020 T 9K 9@ & sEMC AU U T GEar g B

gy |dehig | sighcEme | qul | Sl
2016 1800 2500 1800 2000
2017 2500 2300 1850 1800
2018 2300 2400 1840 1760
2019 2440 1950 1900 1600
2020 2250 2100 2000 1750

2016 & 2020 &, qUT H T T I3 FT Jelol H FEACEIG # foreiet 95 IS T AT A2
Ans 11860

<2.1850

/3. 2340

< 4. 2000

Question ID : 81616112476
Status : Answered
Chosen Option : 1

Q25 AABC & <A =90°, g D 9w AD L BC ¥ 7% AB = 12 cm ¥ AC = 16 cm ¥, =Y BD & #fa1$
(ecm ) 7T F1|

Ans X1 g4
X2 64
v3 72
X478

Question ID : 81616114289
Status : Answered
Chosen Option : 3

Section : English Comprehension

Q.1 Select the INCORRECTLY spelt word.
Ans X 1. Scrutinize

#5 2. Cerebral
< 3. Arbitrary
4. Withdrawl

Question ID : 81616113310
Status : Answered
Chosen Option : 4
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Q.2 Select the option that expresses the given sentence in reported speech.

"Whom did you see at the shopping mall today?” | asked my daughter.
Ans X 1.1 asked my daughter that whom did she saw at the shopping mall that day.

5 2.1 asked my daughter that whom she saw at the shopping mall on that day.
«” 3. | asked my daughter whom she had seen at the shopping mall that day.
/5 4.1 asked my daughter who she has seen at the shopping mall today.

Question ID : 81616114300
Status : Answered
Chosen Option : 3

Q.3 Select the most appropriate option to fill in the blank.

Youneednot__ so much fuss about wearing a mask when you go out.
Ans X 1.cause
& 2. generate
< 3.do
«” 4. make

Question ID : 81616113816
Status : Marked For Review
Chosen Option : 4

Q.4 Select the option that will improve the underlined part of the sentence. In case no
improvement is needed, select 'No improvement required'.

| wish | have come an hour sooner.
Ans X 1. wil
& 2. has

25 3. No improvement required

«” 4. had

Question ID : 81616114302
Status : Answered
Chosen Option : 4

Q.5 The following sentence has been divided into parts. One of them contains an error.
Select the part that contains the error from the given options.

The Principal requested / the teacher’s / to monitor / and take care of the small
children.

Ans 7 1.the teacher’s
< 2. to monitor
#5 3. The Principal requested

#5 4. and take care of the small children

Question ID : 81616112782
Status : Answered
Chosen Option : 1
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Q.6 Select the most appropriate meaning of the given idiom.

Full of beans
Ans X 1. A storeroom full of vegetables
#5 2. Full of cowardice
#5 3. A dish made of French beans

«” 4. Full of energy

Question ID : 81616112801
Status : Answered
Chosen Option : 4

Q.7 Select the option that expresses the given sentence in passive voice.

Someone stole his traveller's cheques when he was travelling in Europe.
Ans & 1. His traveller's cheques were stolen when he was travelling in Europe.

& 2. His traveller's cheques are stole when he was travelling in Europe.
#5 3. Someone had been stole his traveller's cheques when he was travelling in Europe.

#5 4. His traveller's cheques was stole when he was travelling in Europe.

Question ID : 81616113794
Status : Answered
Chosen Option : 1

Q.8 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the right order to form a meaningful and coherent paragraph.

A. This invention has helped us to heal wounds caused by bacteria.

B. Penicillin is one of the most useful drugs man has invented.

C. In the beginning however, very few people knew of this discovery and its use.
D. Its use has saved the lives of hundreds of thousands of soldiers.

Ans 7 1.BADC
X 2. ABCD
2 3.CABD
< 4.DCBA

Question ID : 81616113299
Status : Answered
Chosen Option : 1

Q.9 Select the most appropriate option to fill in the blank.

A souvenir will be released on the occasion of the World Meet.
Ans X 1. considerable
& 2. generous
£ 3. bountiful

o 4. voluminous

Question ID : 81616114322
Status : Marked For Review
Chosen Option : 2
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Q.10 Select the option that can be used as a one-word substitute for the given group of
words.

A large building with an extensive floor area, typically for housing aircraft
Ans X 1.Barn

«” 2. Hangar
< 3. Shed
5 4. Airport

Question ID : 81616113812
Status : Answered
Chosen Option : 2

Q.11 Select the option that can be used as a one-word substitute for the given group of
words.

A person who listens to someone’s private conversation without them knowing
Ans X 1. Infiltrator

& 2.Spy
/X 3. Secret agent

«” 4. Eavesdropper

Question ID : 81616113813
Status : Answered
Chosen Option : 4

Q.12 The following sentence has been divided into parts. One of them contains an error.
Select the part that contains the error from the given options.

It have been only / through writing / that men have been able / to spread their ideas to
mankind.

Ans X 1. through writing
#5 2. that men have been able
«” 3. It have been only
#5 4. to spread their ideas to mankind

Question ID : 81616113793
Status : Answered
Chosen Option : 4

Q.13 Select the most appropriate meaning of the given idiom.

To cut a long story short
Ans & 1. Tell something briefly
#5 2. Like to tell short stories
£ 3. Like to tell long stories

5 4. Tell something in a roundabout way

Question ID : 81616112800
Status : Answered
Chosen Option : 1
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Q.14 Select the INCORRECTLY spelt word.
Ans 7 1. Vishious

5 2. Moisture
25 3. Anxious
< 4. Mimic

Question ID : 81616113309
Status : Answered
Chosen Option : 1

Q.15 Select the most appropriate ANTONYM of the given word.
Toxic

Ans X 1. Harmful

#5 2. Venomous

£ 3. Lethal

o 4. Healthy

Question ID : 81616112799
Status : Answered
Chosen Option : 4

Q.16 Select the most appropriate synonym of the given word.
Transmit
Ans 1. Convey
< 2. Accept
/5 3. Receive
& 4. Catch

Question ID : 81616114312
Status : Answered
Chosen Option : 1

Q.17 Select the most appropriate synonym of the given word.
Numerous
Ans 7 1. Several
5 2. Totalled
< 3. Numbered
& 4. Few
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Question ID : 81616114311
Status : Answered
Chosen Option : 1
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Q.18 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the right order to form a meaningful and coherent paragraph.

A. Then | took him by the hand and led him across the street.

B. | was going to the market when | saw a blind man trying to cross the street.
C. He expressed his gratitude with folded hands.

D. | walked across to the blind man.

Ans X 1.CBDA
«” 2. BDAC
< 3. ABCD
< 4.DABC

Question ID : 81616112795
Status : Answered
Chosen Option : 2

Q.19 Select the most appropriate ANTONYM of the given word.
Invade
Ans X 1.Assault
& 2. Seize
«” 3. Surrender
5 4. Attack

Question ID : 81616113303
Status : Answered
Chosen Option : 3

Q.20 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select ‘No substitution’.

The place is too much noisy.
Ans 7 1.too noisy
/% 2. much too much noisy
#5 3. No substitution

25 4. much noisy

Question ID : 81616113796
Status : Answered
Chosen Option : 3
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Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of
the alternatives given. Select the most appropriate option for each blank.

It is true that the more you study, the more you (1) your horizon and hence your point
of view undergoes a (2) . A person with higher education certainly has a better

(3) and ideas to help in community and societal (4) . Ideas that are gathered
from such people provide a global (5) for the nation as a whole.

SubQuestion No : 21

Q.21 Select the most appropriate option to fill in blank number 1.
Ans 7 1. expand
25 2. convert
/5 3. narrow
/< 4. exchange
Question ID : 81616113294
Status : Answered
Chosen Option : 1
Comprehension:
In the following passage, some words have been deleted. Fill in the blanks with the help of
the alternatives given. Select the most appropriate option for each blank.
It is true that the more you study, the more you (1) your horizon and hence your point
of view undergoes a (2) . A person with higher education certainly has a better
(3) and ideas to help in community and societal (4) . Ideas that are gathered
from such people provide a global (5) for the nation as a whole.
SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank number 2.
Ans X 1.succession

2 2. backwardness
«” 3. transformation

X 4. enlargement

Question ID : 81616113295
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of
the alternatives given. Select the most appropriate option for each blank.

It is true that the more you study, the more you (1) your horizon and hence your point
of view undergoes a (2) . A person with higher education certainly has a better

(3) and ideas to help in community and societal (4) . Ideas that are gathered
from such people provide a global (5) for the nation as a whole.

SubQuestion No : 23

Q.23 Select the most appropriate option to fill in blank number 3.

Ans

< 1. routine
o 2. outlook
25 3. luck
X 4. scope

Question ID : 81616113296
Status : Answered
Chosen Option : 2
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Q.24
Ans

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of
the alternatives given. Select the most appropriate option for each blank.

It is true that the more you study, the more you (1) your horizon and hence your point
of view undergoes a (2) . A person with higher education certainly has a better

(3) and ideas to help in community and societal (4) . Ideas that are gathered
from such people provide a global (5) for the nation as a whole.

SubQuestion No : 24
Select the most appropriate option to fill in blank number 4.
& 1. elaboration
25 2. ripening
«” 3. development
5 4. maturity

Question ID : 81616113297
Status : Answered
Chosen Option : 3

Q.25
Ans

Comprehension:
In the following passage, some words have been deleted. Fill in the blanks with the help of
the alternatives given. Select the most appropriate option for each blank.

It is true that the more you study, the more you (1) your horizon and hence your point
of view undergoes a (2) . A person with higher education certainly has a better

(3) and ideas to help in community and societal (4) . Ideas that are gathered
from such people provide a global (5) for the nation as a whole.

SubQuestion No : 25
Select the most appropriate option to fill in blank number 5.
25 1. prejudice
< 2. proportion
«” 3. perspective
2 4. posture

Question ID : 81616113298
Status : Answered
Chosen Option : 3
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